HOME & FAMILY ARTS DEPARTMENT Nora Hopper, Superintendent

No entry fee.

Cake Auction on Saturday, July 24, 2021 at 6:15 pm. Auctioneer, Max Prouty. Only Cakes, Coffee Cakes, Loaves of Bread and Pies will be auctioned off. Plastic cake and/or pie covers will be available only as items are entered for exhibit.

Note: In an effort to hold the cake auction to a reasonable time frame the fair board has voted to allow only 1p baked goods per exhibitor to be placed in the auction. An exhibitor may enter as any items as they would like for judging, however, they must specify at the time of entry which items they do **NOT** want auctioned. These items will be marked, "**NOT FOR AUCTION**". Removal of extra items is the responsibility of the exhibitor. If more than 10 items per exhibitor are inadvertently auctioned, the treasurer will pay the exhibitor for only the 1st 10 items auctioned. Only judged items can be placed in the auction and MUST BE on or in a disposable container.

Please read all rules, general and special, carefully as they will be rigidly enforced.

RULES

- Entries will be made from Friday, July 23, from 6:00 to 8:00 pm and on Saturday, July 24, 2021, from 8:00 to11:00 am. ALL Judging will begin at 12:30 pm (or as department is ready).
- Exhibitors may enter one item in each class in Culinary, Canning and Freezing.
 Canning, not specified classes may have two entries per exhibitor, if the ingredients are different. Exhibitors may enter two (2) items per class in Sewing and Domestic Arts.
- Any article which has been previously exhibited in open class is ineligible for exhibit again.
- Every precaution will be taken to insure the safety of all articles, but in no case will the management be responsible for the loss or injury to articles.
- Articles made for competition must have been made within the last two years and MUST BE THE WORK OF THE EXHIBITOR.
- 6. If exhibits are deemed too large to be exhibited, exhibitor may be asked to remove the item after judging and a photo of the exhibit will be taken and displayed. The Open Class Department Superintendent will make this decision. Similar decisions will be made regarding Content of Exhibit.
- 7. No premiums will be awarded to unworthy articles.
- 8. Where there is no competition, premiums will be determined by the merit of the
- Exhibitors should bring list of entries with them being careful to have the lot numbers correct.
- All articles must be checked out and removed between 7:30 to 10:30 am, Saturday, August 1.
- Pickles, relishes, jams and jellies may be opened for judging. Please pick these up after they are judged. Also please pickup any freezer entries after judging.
- Champion or Reserve Champion Ribbons may be given in each bold faced category in the Home and Family Arts Department.
- 13. Entries and premiums may be picked up between 8:30 and 10:30 am, Satuday, July 31. Premiums to be paid in cash at place of entry on Saturday, July 31, 7:30 to 10:30 am. All premiums not picked up will be held at extension Office for 1 week. If not picked up, premiums will be forfeited.
- 14. WE ARE NOT RESPONSIBLE FOR ANY EXHIBITS NOT PICKED UP ON JULY 31.
- Cake auction money will be divided as follows: 1/2 to the Baker and 1/2 to Jasper County Fair Association, Inc. Money should be picked up Saturday, August 1 between the hours of 7:30 and 10:30 am.
- The management will not be responsible for articles left after 10:30 am, Saturday July 31.

17. Entry tags will be available before Fair at the Extension Office

THANK YOU 2019 CAKE & PIE AUCTION BUYERS A SPECIAL THANK YOU TO OUR AUCTIONEER, MAX PROUTY

NEED THE LIST

Bryan Overstreet	Jasper County REMC	Peggy	Good-
man			

CULINARY

Assistant: Suzanne Frey

- 1. For food competitions: Filling, frosting, glazing, pie filling, and meringue, (whether uncooked or cooked) are not permitted to contain cream cheese, sour cream, heavy cream, or whipped cream as the nature of these products increases the moisture content and water activity of the food. Foods with a higher moisture content and water activity can be ideal growing conditions for food borne pathogens, even if the ingredient is part of a batter and baked. Additionally, raw milk, raw milk products or uncooked eggs/egg whites are not permitted. Eggs/egg whites that have been cooked to 160°F (i.e. pasteurized or included as part of a batter and baked) are acceptable. No homecanned fruits, vegetables, or meats are permitted in products. Recipes must be provided that show which ingredients were used in each part of the product. Contestants should carefully wash their hands and make sure that their hands do not have any open cuts before preparing foods. Contestants should not be preparing food exhibits for competition within 48 hours of recovering from any illness. Whenever possible, baked products should be transported and stored in chilled coolers (41°F).
- 2. Judges and individuals who will consume products from county and state competitions should be informed that they are at risk for food borne illness since the established policy, cannot guarantee that any entry which may be a "potentiallyhazardousfood"has been properly prepared or handled before, during or following the competition. Tasting of a food product is solely at the discretion of the judge. Judges are NOT to taste any low-acid or acidified preserved food, like green beans or tomato products, and are discouraged from tasting any other home preserved food.
- 3. Consumers of competitive food exhibits being sold at auction or used for hospitality purposes should be notified they could be at risk for food borne illness since the established policy cannot guarantee that an entry which may be a "potentially hazardous food" has been properly prepared or handled before, during, or following the competition.
- Cakes are not to exceed 10" diameter. Place on covered cardboard not more than 1' bigger than cake. THE EXCEPTION being decorated cakes and coffee cakes, which can be displayed in a foil pan.
- 5. ALL ITEMS MUST BE MAKE FROM SCRATCH, NO MIXES!!! WITH THE EXCEPTION OF DECORATED CAKES. DECORATED CAKES CAN BE MADE FRO A MIX AND WILL BE JUDGED ON AP-PEARANCEONLY, BUT MUST BE A CAKE AND NOT A STYROFOAM FORM.
- THE JUDGE HAS THE RIGHT TO REJECT ANY BAKED GOODS NOT SUIT-ABLE FOR THE CAKE AUCTION. ALL PRODUCTS MUST BE FULLY BAKED.
- 7. If you have more than 10 items for entry, please obtain entry tags from Extension Office ahead of time and have them filled out.

CAKES

701.	Cake, banana	1.50	1.00	.75
702.	Cake, devils food	1.50	1.00	.75
703.	Cake, German chocolate	1.50	1.00	.75
704.	Cake, white layer	1.50	1.00	.75
705.	Cake, spice	1.50	1.00	.75
706.	Cake, sunshine or sponge (not iced)	1.50	1.00	.75
707.	Cake, angel food (not iced)	1.50	1.00	.75
708	Cake vellow	1 50	1 00	75

709.				
	Cake, chiffon (not iced)	1.50	1.00	.75
710.	Cake, not specified	1.50	1.00	.75
711.	Cake, bundt	1.50	1.00	.75
712.	Cake, chocolate	1.50	1.00	.75
713.	Cake, carrot (not iced)	1.50	1.00	.75
) - UP TO AGE 8	1.00	1.00	.10
		1 50	1 00	75
720.	Cake, banana	1.50	1.00	.75
721.	Cake, devils food	1.50	1.00	.75
722.	Cake, German chocolate	1.50	1.00	.75
723.	Cake, white layer	1.50	1.00	.75
724.	Cake, spice	1.50	1.00	.75
725.	Cake, sunshine or sponge (not iced)	1.50	1.00	.75
726.	Cake, angel food (not iced)	1.50	1.00	.75
727.	Cake, yellow	1.50	1.00	.75
728.	Cake, chiffon (not iced)	1.50	1.00	.75
729.	Cake, not specified	1.50	1.00	.75
730.	Cake, bundt	1.50	1.00	.75
731.	Cake, chocolate		1.00	.75
		1.50		
732.	Cake, carrot (not iced)	1.50	1.00	.75
	H - 9 to 12 YRS. OLD			
737.	Cake, any, from scratch	1.50	1.00	.75
738.	Pie, any, crust/filling from scratch	1.50	1.00	.75
739.	Bread, yeast	1.50	1.00	.75
740.	Banana bread or bread, non-yeast, any	1.50	1.00	.75
741.	Candy, 3	1.50	1.00	.75
742.	Drop cookies, three	1.50	1.00	.75
743.	No Bake, three	1.50	1.00	.75
744.	Chocolate chip, three	1.50	1.00	.75
745.	Snicker doodles, three	1.50	1.00	.75
745. 746.				
	Sugar cookies, three plain	1.50	1.00	.75
747.	Biscuit, any, three	1.50	1.00	.75
748.	Muffin, any, three	1.50	1.00	.75
	G ADULTS - 13-18 YRS. OLD			
750.	Cake, any, from scratch	1.50	1.00	.75
751.	Pie, any, crust/filling from scratch	1.50	1.00	.75
752.	Bread, yeast	1.50	1.00	.75
753.	Banana bread or bread, non-yeast, any	1.50	1.00	.75
754.	Candy, 3	1.50	1.00	.75
755.	Drop cookies, three	1.50	1.00	.75
756.	No Bake, three			
757.		1.50	1 00	75
		1.50	1.00	.75 75
	Chocolate chip, three	1.50	1.00	.75
758.	Chocolate chip, three	1.50 1.50	1.00 1.00	.75 .75
758. 759.	Chocolate chip, three	1.50 1.50 1.50	1.00 1.00 1.00	.75 .75 .75
758. 759. 760.	Chocolate chip, three	1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00	.75 .75 .75 .75
758. 759. 760. 761.	Chocolate chip, three	1.50 1.50 1.50	1.00 1.00 1.00	.75 .75 .75
758. 759. 760. 761. DECC	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 2.00	1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 2.00	1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 2.00 1.50	1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 2.00 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 2.00 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 2.00 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 769.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 769. 770.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 769.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 769. 770. 771.	Chocolate chip, three	1.50 1.50 1.50 1.50 2.00 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 769. 770. 771. 772.	Chocolate chip, three	1.50 1.50 1.50 1.50 2.00 1.50 1.50 1.50 1.50 1.50 1.50 1.50 1	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 770. 771. 772.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 770. 771. 772. 775. 776. 777.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75
758. 759. 760. 761. DECC 762. 763. 764. 765. 766. 767. 768. 770. 771. 772.	Chocolate chip, three	1.50 1.50 1.50 1.50 1.50 1.50 1.50 1.50	1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	.75 .75 .75 .75 .75 .75 .75 .75 .75 .75

780.	Drop cookies, not brownies, three	.75	.50	.25
781.	Misc. cookies, three	.75	.50	.25
782.	Bar cookies, not brownies, three	.75	.50	.25
783.	Spritz or molded, three	.75	.50	.25
784.	Chocolate chip three	.75	.50	.25
785.	Oatmeal, three	.75	.50	.25
	YEAST PRODUCTS			
790.	Bread, white yeast, 1 loaf	.75	.50	.25
791.	Bread, whole wheat, 1 loaf	.75	.50	.25
792.	Bread, yeast, not specified, 1 loaf	.75	.50	.25
793.	Other, 1 loaf	.75	.50	.25
794.	Yeast rolls, three	.75	.50	.25
795.	Yeast sweet rolls, three	.75	.50	.25
796.	Yeast coffee cake	.75	.50	.25
	NON-YEAST PRODUCTS			
800.	Bread, banana, 1 loaf	.75	.50	.25
801.	Bread, zucchini, 1 loaf	.75	.50	.25
802.	Coffee cake, not specified, not yeast	.75	.50	.25
803.	Biscuits, soda or baking powder, three	.75	.50	.25
804.	Muffins, plain or fruit, three	.75	.50	.25
805.	Other	.75	.50	.25
	PIES			
810.	Pie, apple	.75	.50	.25
811.	Pie, cherry	.75	.50	.25
812.	Pie, peach	.75	.50	.25
813.	Pie, blueberry	.75	.50	.25
814.	Pie, apricot	.75	.50	.25
815.	Pie, other berry (raspberry, blackberry, gooseberry, etc.)	.75	.50	.25
816.	Pie, mixed berry	.75	.50	.25
817.	Pie, fruit, not specified	.75	.50	.25
818.	Pie, mixed fruit	.75	.50	.25
819.	Pie, nut, any	.75	.50	.25
820.	Pie, strawberry, rhubarb	.75	.50	.25
	CANDY			
825.	Candy, fudge, 4 pcs. light	.75	.50	.25
826.	Candy, fudge, 4 pcs. dark	.75	.50	.25
827.	Candy, caramel, 4 pcs		.50	.25
828.	Candy, peanut brittle, 4 pcs	.75	.50	.25
829.	Candy, hard, 4 pcs.	.75	.50	.25
830.	Candy, not specified, 4 pcs.	.75	.50	.25
	GLUTEN-FREE			
835.	Bread	1.00	.50	.25
836.	Cake	1.00	.50	.25
837.	Cookies, three	1.00	.50	.25
838.	Muffin, three	1.00	.50	.25

.50 .25

.25

Grand Champion Culinary Plaque sponsored by supporters of the Jasper County Fair.